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ABC Analysis

• Class A (15% of total inventory, 70-80%
dollar usage)

• Class B (30% of total inventory, 15-25%
dollar usage)

• Class C (55% of total inventory, 5% dollar
usage)

Pareto Principle

• Class A (15% of total inventory, 70-80%
dollar usage)

• Class B (30% of total inventory, 15-25%
dollar usage)

• Class C (55% of total inventory, 5% dollar
usage)

Pareto Principle
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Policies based on ABC Analysis

• Resources expended on supplier for A
items

• A items should have tighter control as
opposed to B, C items

• More care to Forecast of A items
10%-25% loss of profit due to inaccurate

inventory records
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Q* is called Economic order QuantityCourtesy , Dr Rafi Javed Qureshi



Sometimes, Ch is expressed as;

Ch = IP

Where I = inventory carrying
cost rate

P = Purchase price of the item
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Quantity Discounts : Example

ZORIC buys screwed bolts in bulk quantities from 21st century Manufacturing
company. This manufacturing company offers quantity discounts to customers
who make procurements in large quantities. The discount schedule is as under;

Order Quantity Price/unit(P)
1    <   Q < 1000 $ 5.00

1000 <= Q <2000                     4.80
Q >= 2000 4.75

ZORIC’s Inventory Manager Zhufaar wants to make decision on order size (Q)
so as to minimize his inventory as well as purchase cost of screwed bolts.  He
estimates that annual demand of the screwed bolts will be 5000. Each order will
cost him $49. The inventory carrying cost rate is estimated to be 20%.

In case inventory carrying cost rate turns out to be 10%, what Zhufaar will do?
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Quantity Discounts : Example Solution

Let’s denote three discount slabs as under;
Discount No Order Quantity Price/unit(P)

1                1    <   Q < 1000 $ 5.00
2            1000 <=  Q  <2000                         4.80
3                          Q >= 2000 4.75

For each discount schedule corresponding EOQ’s will be
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Quantity Discounts : Example Solution

Fitting the EOQ’s in corresponding slab;
Discount No Order Quantity EOQ            Adjusted Q

1                1    <   Q < 1000 700                 700
2            1000 <=  Q  <2000                         714.43           1000
3                          Q >= 2000 718.18            2000

Q1*= 700            Q2* = 714.43            Q3*=718.18

Fitting the EOQ’s in corresponding slab;
Discount No Order Quantity EOQ            Adjusted Q

1                1    <   Q < 1000 700                 700
2            1000 <=  Q  <2000                         714.43           1000
3                          Q >= 2000 718.18            2000

Total cost/year = Total Purchase Price of Screwed Bolts + Ordering
cost per year + inventory holding cost per year

Mathematically;
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For    I = 20%, least cost order size = 1000 with Discount
schedule # 2

For    I = 10%, least cost order size = 2000 with Discount
schedule # 3

For    I = 20%, least cost order size = 1000 with Discount
schedule # 2

For    I = 10%, least cost order size = 2000 with Discount
schedule # 3
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EOQ APPLICATION

• ARMEDI Business keeps a large stock of items
in different parts of the country. The pressure
vessel division of the company has a sizable
store in their office building. The store keeps 20
different items. Annual demand data of these
items along with item purchase cost is tabulated
( and presented on next slide). The company
follows the following ordering policy;

• “If annual demand of an item > 10,000; make 2
orders per year; otherwise make one order”

• What is the total inventory cost of 20-item
store?
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• Arian Muth is manager of the pressure-vessels
store. He was horrified to see 30 Million $
figure.

• He approached Judy Brian in the department
for help. Judy was Inventory Consultant in the
organization. The Consultant advised him to
apply EOQ methodology.

• How much Arian Muth will be able to save in
inventory costs if he applies EOQ
methodology?
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• Arian Muth was hesitant to apply EOQ-based strategy;
as the number of orders per year was going to
increase at a drastic rate.

• Arian expressed his reservations about EOQ solutions
to Judy. Judy asked him to calculate the present
space requirements for 20-items

• Arian collected information about space requirements
(in CFT) for all 20-items (shown in next slide).

• Based on his present ordering policy, how much
space is being utilized by these 20 items in the
stores.

Store Space Required under current ordering policy
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• Arian Muth got terrified to see this horrendous
figure of 17037557 cubic feet (CFT) being
currently utilized for storing those 20-items.

• Arian spoke to Judy again telling this huge
amount of space required to store these 20-
items

• Judy advised him to make storage space
requirement calculations using EOQ approach.

• Based on EOQ policy, how much space is
being saved?

Store Space Required under EOQ policy
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How much Dollars required for making
purchases

• Inventory consultant Judy wanted to convince store manager
Arian on another very beneficial aspect of EOQ policy.

• Judy asked Arian Muth to compare the  dollars required to
invest at the time of placing orders for both policies.

• Dollars invested at the time of placing order is equal to

• Compare the Dollars requirement for both policies?
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where, Pj = purchase price of jth item

Qj = order size of jth item
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• Arian Muth was finally convinced that EOQ is highly
valuable tool for inventory control.

• His main concern was high values of frequent ordering
activity as a result of EOQ implementation.

• Judy advised him to make his case before Director
of Pressure-Vessels cell. In cooperation with
Director Purchases, Arian was able to activate
Purchase department to adapt to this frequent
ordering requirements to implement the new
inventory control strategy.

EOQ Challenges
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